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General Instructions to the Candidate :

This uesti B

question paper consists of objective and subjective types of
38 questions. ‘

This question paper has been sealed by reverse jacket. You h
on the right side to open the paper at the time of commencement of the
examination. Check whether all the pages of the question paper ar¢ -

ave to cut

intact.

Follow the instructions given against both the objective and subjective

types of quesnons
Figures in the right hand margin indicate m

questions. ‘
The maximum time to answer the paper is given at the top of the
question paper.

question paper. It inclu

aximum marks for the

des 15 minutes for reading the
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L Four alternatives are given for each of the following q
uestiong
incomplete statements. Choose the correct alternatiye g d I
nd writq
the complete answer along with its letter of alphabet 8x1
. X =8

1. The number of zeroes of th i =
L € polynomial y = p (

0

JCJ' in the given

LT

2
A 3 i B)

€ 1

2, Foranevent ‘E}if P(E) =075, then P E ) is

€ 0025 . (D) 125



2

LI

3.

(A4) 3

The totg 3
. E
e gy, st
and hel i arj ht o ()
ght h’is ght Cireular eylingder having radius 7
(B) o rh
(D) 2nr(r+h)

rep[f!Se
is co nts the remainder when 19 =6x 3+ 1
Mpareq With

Uclidie 4ss . F
d's division lemma a=bg+r is

B) 6

€ 1 .
(D) 19

In the gj ' :
CIENERBRUIEFE i o tangent drawn at the point A to the

circle with centre ‘0’ 1 AOP = 45°, then the measure of

| OPA is

[ Turn over
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6. In the figure, if DE || BC, then the correct relation amon
& the

following is

A
D E
B > &
AD - AE
W) ==
AB  EC
AD EC
B ==
®) DB AE
AD AE
© DB~ EC
DB _ AE
© Zp = EC
7. The lines represented by the equations 4x + Sy - 10 = 0 and

8x+ 10y+20=0are
(A) intersecting lines -
(B) perpendicular lines to each other

(C) coincident lines

(D) parallel lines
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8. The qj
Stg ‘
_— 81-E
Poing (_ g
v 3) 1§

o s - rom the x-axis is

(B) 3 ung
_ Unitg
=
=
=
= (©) -3 unit
= <
=
=

(D) 8 units
g. Answer the following questi

ons : el ®

9. Ex i
Xpress the denominator of 576 in the form of 2 x5™.

10. If the pair of lines represented by the linear equations

+0oy-4=0and ax+by-12=0 e coincident fines, then find

the values of ‘@’ and b’
11, AABC~A POR. Area of the A ABC is 64 cm? and the area of the
2 1f AB=8cm, then find the lengtll of PQ.

A PORis 100 ¢
[ Turn over
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12. Express the equation x ( 2 + x) = 3 in the standard form of o

TR T

13.

14.

15.

16.

quadratic equation.

Find the discriminant of the quadratic equation 2x? -4x+3=0.

Find the coordinates of the mid-point of the line segment joining

the points (6, 3)and (4 7).

Write the degree of the polynomial

P(x)=3x3-x*+2x? +5x+2.

Write the formula to find the volume of the frustum of a cone

given in the figure.
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2
7
gx2=16

An
Swer the following questions :

LT

17,

18.

19.

20.

Show 3 & i
ow that 5 + J3 is an irrational number.

OR
Find the H.CF. of 72 and 120 by using Buclid's division

algorithm.

Solve the given pair of linear equations :

Shens ) ot b

x+y =6
Find the 20t term of the Arithmetic progression 4, 7, 10, .-

by using formula.

Find the roots of the equation 2x2 - 5x+3=0 by using

‘quadratic formula’.

OR

Find the roots of the equation’ 5 x? - bx-2= 0 by the method of

completing the square.
| Turn over
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21,

& yalues of sin g

- In the o
i )
gven figure, if | ABC = 90°, then find t

and Ccos .

B

befed from g to 19. If one
m e :

nd the probablity that it

- nu
92. A box contains cards which aré

Ly

0X.
card is drawn at random from the bo¥,

bears a prime number-
o]

l : ium i ‘ 'hAB||1)C',and
23. In the given figure, ABCD is & trapezium 11t whic
| m, 4 AD= find th
BCJ—DC-I.fAB=6cm, CD=100mandAD—50m, then e

distance between the pa;ailcl lines.
‘ i 6 cm A
D S ]
10cm C

24. Draw a circle of radius 4 cm and construct a .

the circle such that the angle beMeen theﬁ1 is 60°
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Answel_
the fole.

wing quest: s

25, questions :

26.

2
R.FA
19073 81-E
o 0
9 x 3"'27

Divi
1v1dep(x]=3_\.n+xg+2x+s byg(x)=x'1+2x+1‘md

find th 4
© Quotient [ g( x) ] and remainder [rix)l

OR
2 4y 7x+ 10,

Fin B
d the zeroes of the quadratic polynomial p (x)=x
the coefficients.

an = .
d verify the relationship between zeroes and

Prove that
l+cos A
i cosec A+ cot A
OR
Prove that ; : R
sinA T+ cogdi 2 cosec A.
1+cos A sin A
- 27. Find the mean for the following data ©
——/_"‘___] ;
Class-interval Frequency
1-5 4
6- 10
11-15
16-20
21-25

OR
[ Turn over
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ata !

¢
Class-interval W
| lass-interval |

6

ig

. ining the
ine segment joining

~ points

28. F‘md the ratlo ' in which the |
at (-4 6)-

dB(3 —S)isdividedbythe poin (

A(-6, 10 ) an .

OR

i3 l _ 1 g
Find the area of a triangle whose vertices are A (1, )

B(-4, 6) and C(-3, =5)

29, Prove that “The lengths of tangents drawn from an external point

to a circle are equal”.
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a;
the giVen
ﬁgllre =Y
equi » '0is the ; ;
Quilaterq) 4 . centre of a circle and OAB is 84
triangle, p
T + Y and Q ar : :
€Spectiye] e the mid-points of OA and OB
V- If the area of
i A OAB is 3643 cm?, then find the
€a of the aki )
aded region. ‘ SaiO]
=
=
A B

31. - : s
Construct a triangle with sides 5 cm, 6 cm and 8 cm-and then
construct anoﬂzer triangle whose sides are % of the

EERERE '
corresponding sides of the first triangle.

32, The distance between two cities 4’ and ‘B’ is 132 km. Flyovers
are built ‘to avoid the traffic in the intermediate towns between
these cities. Because of this, the average speed of a car travelling

es by 11 km/h and hence,

in this route through flyovers increas
e same distance than

the car takes 1 hour less time to-travel th

Find the current av

erage speed of the car.

earlier.
[ Turn over
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llowing data for distribution of
o

QT

33. A life insurance agent found the fol o
an type ogive for the

ages of 100 policy holders. Draw a “Less th
given data :
Age ( in years ) Number of policy holders
( eunulative frequency )
Below 20 )
Below 25 )
‘Below 30 o4
Below 35 45
Below 40 7 8
Below 45 89
B_elov? 50 i

Answer the following questions :
34. The sum of 2nd and 4th terms of an arithmetic progression is 54

and the sum of its first 11 terms is 693. Find the arithmetic

progression. Which term of this progression is 132 more than its

54th term ?

OR



N

— A\
'\-‘é%‘ e
'

erms of an 3
T T i are
Yy f arithmetic progression &
the 20th term i is 98,
ely. If. th t of the progression 1

last
then find the arithmetic progression. Also find the sum of the la

10 termg of this progression.

i i ations by
35. Find the solution of the given pair of linear equ

graphical method :

. ‘ ar equ 3

t e simﬂar”.
oportion ) and hence the two triangles ar
pr |
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- Lchcd'and tied £
ope 18 ight L rom
37. In the givel figure: a roP
n the game level ground such .
P 0 .
top of a vertical pole 10 a peB t
de by it wi
the angle Ma ol |
the length of the rop¢ is 20 m aﬂd : " e
it the 1oP¢: reaches th
ground is 30°. A circus artist climbs B —
e observes that the angle of elevation of

and from there b

the pole
n the 30 ground 18 found to be 60°, It

the top of another pole 0
e from the peg is 30 m

of the longer pol

then find the height of chis pole. ( Take 3 U
c

the distance of the foot

v
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VI. " B
Answey 4. 15 ceemr)
fouo
E Question . % ‘ﬁﬁs‘i 1x8=5

A w
Oode
N solj
Solid toy §
Y 18 made by mounting a cone on the circular

base
of a hem;
m
1sphere as shown in the figure. If the arca of base of

th
c Cone is 38.5 sz
and the total height of the toy is 155 cm,

t_hen f
in
d the total surface area and volume of the toy.

A
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